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 (i)   (ii)   (iii) (iv)   (v)

Heat flux at steady state is since we assume steady state:

 q ' ' 1=(T i−T 1)/R1
q ' ' 2=(T 1−T 2) /R2

q ' '=(T i−T o)/Rtot

...

q ' ' 1=q ' '2=q ' ' 3=...=q ' '

Thermal resistance for conduction is

R=l /k

And for convection

R=1/h

Total thermal resistance in series is

Rtot=R1+R2+R3+...+Rn

(a) calculate heat flux

Hint: use indoor convection resistance

(b) calculate rock wool layer thickness

Hint: calculate first the total thermal resistance and then the thermal resistance of the rock wool 
layer
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